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EJTS 14,715 39,797 19,595 20,202
= RAT AR 998 2,772 1,386 1,386
EFETAR 25 73 33 40
XRAETS H 464 1,086 561 525
XEETKE 533 1,500 720 780
ERATIERER 1,268 3,326 1,678 1,648
E£EETILRHEITE 331 830 376 454
EEETILRHE2TH 93 216 95 121
EEETILRHEITE 113 323 162 161
EEETILRHTEITE 212 449 191 258
Hi 749 1,818 824 994
EFEETE L 563 1,478 719 759
EFET/INF 414 994 532 462
ERET/NER 335 912 458 454
E£EATEOEHHE1TH 363 1,051 504 547
£EATSOEHHE2TH 378 1,106 542 564
EEATEOEHHEIT 283 832 408 424
5| 1,024 2,989 1,454 1,535
£EATEOEHEITH 234 719 358 361
£EATEOEHH2TH 353 1,087 532 555
LEATEOEHEIT 455 1,351 655 696
5| 1,042 3,157 1,545 1,612
XRATERF 550 1,493 717 776
ERETELE 350 1,067 524 543
EEITERES1TH 263 759 386 373
ERITEES2T 199 509 266 243
B 462 1,268 652 616
ERETAFH 677 1,910 953 957
EJEL P NS 244 701 367 334
ERETZAH 1,095 3,273 1,625 1,648
EFETAE 448 1,192 603 589
EJELIpRYE] 5 14 8 6
ERETER 1,425 3,647 1,739 1,908
XREATER 240 575 289 286
EKERATREREB 1,183 3,148 1,553 1,595
EEATRRETE1TH 209 508 223 285
E£EATRARETE2T B 73 182 75 107
EEATRARETEITH 248 541 255 286
Hi 530 1,231 553 678
ERITAMEITH 74 153 86 67
ERBTAME2TH 1 2 1 1
ERBTAMEITH 1 1 1 0
ERBITAMEA4TH 15 17 14 3
Hi 91 173 102 71
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